STAR

VTINT77727

Hma—F K28085 - K28090

# ®K FDCS—501-FDCSA—-501

* Biam CIEX DRI, BTEAETERBT LY,
- RSO —RRIZE, £ -ty MEGEOADTRNHY FT




=

O TEXIZTDONT

MREBROBIEFRIZDONT

L & CHECOBRIE, TREEE 2 JHE< 72
éb\o

@
©
®
@
®

MR, (BEFS) IIBAEFRRB LORE
W DOR— L7 b — MZRRLTNET,

2. fEEMoH- [, BFozexkLT
BYET,
Hvane, marEn o ER
PSR 2 12 &) B 28
7 oA BicEEh BT, B
fb T fitfa L2V Elsh.

OB OO A6 R 5 0D (S 4E BB CBARE) 1k
BEEFTHEI 0 1% 9 E T, 7L, EEERN
Tho>Th., BHEBRIC OV TIIMER 2% 2
MBS TOEECEEbHY £4, |

HHEHE & O LA R BB 1 FE 0D S 4R 5
TRT LETH, ERERREZTH-TH,
L E 0 ZTEEER H o A TR X O
FAZDOW T TR STV R E £9,




FDCS-501+FDCSA-501
T A DB

No.| &% BB A g {E% || No. mE R HiE e
1 |E2925-514 |8 )ITL—h 2 IBT-1] E2010-077 7K )L+ M16 x 150 (SWN) 15
2 | E2925-112|F 1427 L—F 3 [IBT-2| E2010-068 |7R)L~ M16 X 70(SW,N) 5
3 | E2925-111 | F4 7054 vk 5 [|BT-3]| E2010-040 |E {2 LARILL |M14 X 65(SW,N) 5
4 | E2925-002 |+ 1> 5||BT-4| E2010-027 | MAJL I M12 X 65(SW,N) 5
5 | E2925-013|H %k FDCS 5 [IBT-5]| E2010-028 |MAJLF M12 x 100 (SW,N) 5
6 | E2925-016 | T2k FDCSA 5
7 | E2925-017 9424 FDCSA 5

(07,03,128%ED)




FDCS-501

Ha0—S5—5EH

(07,03, 13{8IE)

No.| @R%E e & B % |{ No. s ETTE K ks
1 | E2925-250 |[0—S5—7 —.Ls 2 IBT-1{ E2010-173 |RJL+ M16 X 90 (SW) 4
2 | E2925-125 |7 —LFL—bk 27% 2 IBT-2| E2010-018 |/R)L+ M12 x 45 (SW,PW,N) 4
3 | E2925-210|@—5—2L—L 1]|BT-3] E2010~023 |RJL I M12 X 55 (SW,PW,N) 4
4 | E2925-515|_7Pyo 4 206 2 ||BT-4| E2010-073 |7R)L+ M16 X 90 (SW,N) 2
5 | E2925-131 |#@& T L —b 2 ||BT-5| E2010-078 |7R)L I M16 % 160 (SW,N) 4
6 |E2925-120|hT7O0—5— 1]|BT-6| E2010-074 | IJL I M16 X 100 (SW,N) 2
7 |E2925-514|# T JL—k 2
8 | E2700-054 |d—JLE Y 6 % 35 2
9 | E2925-114|7—LTS4Hvb  |[7—LhS—BEH 2
10 | E2925-115 |7 54 vhTFL—F 2
11 | E2925-506 |ty hE L 2
12 6mm 2

E2625-100 | FEY




FDCSA-501

HhIaO—5—Eif

(' 07,03, 13&1E)
No.| &% ETEA R {E% || No. mE e FRAE kS
1 |E2925-251|O0—5—7—.1\ 2 ||BT-1| E2010-173|RJL M16 X 90 (SW) 4
2 |E2925-125|7—LTL—k 27% 2 ||BT-2| E2010-056 |7RJL M16 x 50 (SW,PW.N) 4
3 |E2925-211|O—5—2L—4 1 [[BT-3| E2010-060 |RJL I M16 X 60 (SW,PW.N) 4
4 |E2925-517 [RFPYL S 306 2 ||BT-4| E2010-073 | M16 X 90 (SW,N) 2
5 | E2025-132 [##sa 7 L—F 2 |BT-5| E2010~-078 | JL I M16 X 160 (SW.N) 4
6 | E2925-401 [hdo—5— 1 |IBT-6| E2010-074 |RJL M16 X 100 (SW,N) 2
7 | E2925-514 |8 T TL—k 2
8 | E2700-054 |A—)LEY 6% 35 2
9 |E2025-114|FP—ALTSH5vb | 7—LhS—BEE 2
10 | E2925-115 |0 545 wbTL—b 2
11 | E2925-506 |2y hE>, 2
12 | E2625-100 |Y 2 FE > 6mm 2




FDCS-501+FDCSA-501
CAT I - T #5017 —LEEHH

No.| &% B S 4 i B2 || No. S EES g [EE
1 | E2925-107 7L —4 1||BT-1] E2010-120{ KLk M20 X 150 (SW,N) 1
2 | E2925-525 |by DU HEY  |CAT-1 1 |[BT-2]| E2010-033 |7K )L I M14 x 50(P2)(PW)
3 | E2925-527 |bv o Twi 2 |CAT-1 - KA 1 ‘
4 | E2925-526 [Fy T U o Hh5—|CAT- 1 1
5 | E2625-101 |YFEY 10mm 3
6 | E2925-201 | R w/s R 1

E2925-202 L 1
7 | E2700-032 |m—ILEY 13 % 35 2
8 | E2700-034{O—)LE > 8x35 2
9 | E2802-020|R )4 2
10 | E2889-006 |A 7 )2 %7k |CAT-1 1
11| E2888-015 |3 FB:h5— CAT-1-T#H 2
12 | E2888-012 |2 % T HS5— CAT-1 2
13 | E2925-509 | A4 K 1
14 | E2888-010 /"1 TE > 10 X 60 1

('07,03,12;:8h0)



FDGS, FDGSA
TRV FRILVLE—EEH

KELRI FRILE—EHRLE

No.| &% A bikisd fEE (| No. | M Mt it 1B
1 | E2925-105 [ £ )LhRILF—|FDCS 1{|BT-1[E2010-056 |7K/L+(8.8) M16 X 50P2(SW,N) | 4or2
2 | E2925-106 |RJILF—RF—  [501 1 [|BT-2| E2010-040 |#&{ R &K1 (88) [M14 X 65P1.5(SW.N) 5

(07,03,12:840)



FDCS, FDCSA
TANISHry MM

No.| G&E e & {E% || No. e i b Lics [
1 {E2925-135| AT S5 YRR 1]|BT-1]{ E2010-120 |#JL+(10.9) M20 X 150P2.5(SW,N) 2
2 | E2925-136 | RARTS4wkL 1
3 | E2925-137|H5— 2
4 |E2010-220 | FE S M20 2

('07,03,12;:801)












il

S—061017B

7N it
FTREEM
BINE X
EEEXMm
wIhEEM
hEEEEEMR
E%%%ﬁ
EMEEBEM
k&8 XM
MUE X
AEHEEEM
Bl E ¥
N

i

066-8555

066-8555

070-8004

098-4100

080-2462

086-1152

028-3172

020-0173

983-0013

323-0158

480-0102

700-0973

862-8039

885-1202

FEMLER#E106 1B 2

TEL 0123—26—1123

FAX 0123—26—2412
FRHLR#106 1FM2

TEL 0123—22—-5131

FAX 0123—26—-2035
BHIHHREA4FOTE3E3SS

TEL 0166—61—6131

FAX 0166—-62—8985

KIEMLESRTF EHAORY 119 154 4

TEL 0162—82—1932

FAX 0162—82—1696
WLmE22&dk1TE128M4

TEL 0155—37—3080

FAX 0155—37—5187
EEAPEEaIEr2 TE 1652

TEL 0153—72—2624

FAX 0153—78—2540

EFEEETMARAEELFAE 1 11hF]1 2 0%F3
TEL 0198—46—1311
FAX 0198—45—59909
BFREFHERNERERERS552~3
TEL 019—694—1661
FAX 019—-694—1662
BEHRUATERFRPHFMIA179—1
TEL 022—388—8673
FAX 022—-388—-8735
mARE/NMUFR2512—1
TEL 0285—49—
FAX 0285—49—1
BHEAPHRENATEHFEEHR19 1
TEL 0587—93—688
FAX 0587 —93—541
BUERELUHmTHEHE704—-103
TEL 086—243—1147
FAX 086—243—12609
EAREATREM1TE2E 18
TEL 096—38381—7222
FAX 096—384—3525
HIFEMETmERETERE 1003 -2
TEL 0986—53—22
22

22
FAX 0986—53— 33

D.18.10.1S ®



